Exercises

1- Let S={(1,2,3),(2,1,4),(-1,-1,2),(0,1,2),(1,1,1)}. Find a basis for the subspace
V=span S of R®.

17 127 1371 13115
2- Let S={ % , I%] , lg] ) lg lg]} Find a basis for the subspace V=span S of R*
24 111 2113

3
3- Find the row and column ranks of

1320 0 1

21-51 2 0
A=|3 2 51-2 1
58 91-2 2
99 42 0 2
In exercises  4-7 compute the rank of each matrix.
1 2 1 3
2 1 —4 -5
17 8 -5 -1
110 14 -2 8
12 1 3
5. |2 1-4-5
11 00
00 11
1 2 3
6- |—-1 2 1]
. 3 1 2
1 -2 -1
7-12 -1 3]
7 -8 3

In exercises 8 and 9, use theorem 3.1.7 to determine whether each matrix is
singular or nonsingular.

[ 1 2 -3
8-1-1 2 3}
L 0 8 O
1 2 -3
9-1-1 2 3}
0 1 1




